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1,890.92 1,41857 38.83 3,348.32
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t t °C °C °C °C ppm ppm
123t =800°C FHL1200°CLLT =100ppm
1 109.59 922 170 4
2 107.22 917 170 5
3 104.50 924 170 5
4 101.46 924 170 5
5 102.34 921 170 5
6 99.91 922 170 7
7 99.29 929 170 7
8 107.04 920 170 7
9 101.58 924 170 6
10 106.88 920 170 6
11 104.31 927 170 6
12 104.94 924 170 6
13 20.31 25.50
14 107.55 927 170 4
15 99.74 922 170 4
16 105.65 920 170 4
17 104.86 928 163 4
18 104.77 927 169 4
19 106.53 925 170 4
20 107.44 924 170 4
21 104.72 924 169 4
22 107.17 4333 920 167 4
23 108.35 104.37 925 912 160 160 4 6
24 99.72 99.20 923 917 160 160 4 4
25 99.39 96.49 922 913 160 160 4 5
26 38.48 102.48 920 165 5
27 103.28 925 170 6
28 102.00 921 170 5
29 107.54 917 170 6
30 105.87 920 170 6
=X 1,314.68 2,139.12
2R AE 3,453.80
iy 104.66 103.51 924 921 166 168 4 5




